
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze di dieci

3, 258 × 100 = ________ 6, 608 × 1000000 = ________

4, 439 × 1000 = ________ 3, 33 × 1000 = ________

8, 491 × 10000 = ________ 9, 022 × 100000 = ________

4, 59 × 100000 = ________ 10, 96 × 1000 = ________

10, 752 × 10 = ________ 4, 845 × 1000 = ________

4, 051 × 1000000 = ________ 9, 562 × 1000000 = ________

2, 523 × 1000 = ________ 3, 286 × 1000 = ________

6, 734 × 100000 = ________ 8, 028 × 1000000 = ________

6, 023 × 10000 = ________ 4, 095 × 1000000 = ________

2, 899 × 1000 = ________ 10, 919 × 1000 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze di dieci

3, 258 × 100 = 325.8 6, 608 × 1000000 = 6608000

4, 439 × 1000 = 4439 3, 33 × 1000 = 3330

8, 491 × 10000 = 84910 9, 022 × 100000 = 902200

4, 59 × 100000 = 459000 10, 96 × 1000 = 10960

10, 752 × 10 = 107.52 4, 845 × 1000 = 4845

4, 051 × 1000000 = 4051000 9, 562 × 1000000 = 9562000

2, 523 × 1000 = 2523 3, 286 × 1000 = 3286

6, 734 × 100000 = 673400 8, 028 × 1000000 = 8028000

6, 023 × 10000 = 60230 4, 095 × 1000000 = 4095000

2, 899 × 1000 = 2899 10, 919 × 1000 = 10919
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